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0 WRA FHAALAA(NS) B2 L AP
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0 NS =SFY 2EIY
200,0008 X 1404 = 2,800
SOIIX ESHEH BT, ECHE A (AA)
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CNTHAXRIANE QAL BEIY (W22 205)
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- 220s 250,008 x 48fA 1,000
CXFNESEJY B2 2Y(YS) 200,0008 x 9CH 1,800
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0 QELMI| DHLY Y2 7Y 65000021 X 157H 9,750
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212 =24 57,105 61,853 24,748
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202,021,000& X 11.5% = 23,233
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- SEIMNRE AES 50,000& X 8g = 400
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ocAZTFUH & +ZZAE IS
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- gEt= 200,000 X 9% = 1,800
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o JIE S&EX 1,2X "L Wi  12,500,000& X 2CH 25,000
o 3¢t E&EX Sdiel &S WHl  1,000,000& X 4H/XE 16,000
o HiE+ XMelAld Anlad
5,000,000& X 1IHA 5,000
O &sdX=TI 472 =4
2,400,000& X 7CH 16,800
O €718 €01 ==
5,000,000& X 3CH 15,000
o YAELE WA L WH (&H2XI) 367,750,000& X = 367,750
o HiE=XelAd S& =& 100,000& X 100m 10,000
0 LEXMAE LENAFEH nE, +d 3,000,000& X 40 12,000
o EHENIUA £330 SoHELEZE & = 10,000,000& X 2CH = 20,000
o HHEOIUA FNBLZ =4 3,000,000& X 204 6,000
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ocgxJ|s EJ] =4 6,000,000& X 3CH 18,000
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o (710)¥eH|8

MEH(712) 4 @ H]

(B4 (o9 @
2. g M= Ofl &4 S = Off &Y sz
o Nt&st&dl sXl2teldl 10,000,000& X 1oHA = 10,000
o EAXZAMBH(HIITY) SR 500,000& X 10CH = 5,000
o AELY AFEE X 22| 2,000,000& X 10= = 20,000
o S&&Hl sX&cldl 2,000,000& X 1JHA = 2,000
o |REA KA 2 1,000,000& X 5CH = 5,000
o &0 ¥ HEZ MAHYAH, &
820&/m X 12,000m" X 2JH A = 19,680
(2T =]
ocEHMI Elx=EE KA 22| 500,000& X 16LCH = 8,000
oxZHEHI S22/l 100,000 X 6CH = 600
odXNIAE 2T BEZLH =X 22/Hl  1,000,000& X 8CH = 8,000
odx% WELH RXA22/H 100,000& X 50CH = 5,000
o Xtssh&Hl sXl2eltl 10,000,000& X 1IHZA = 10,000
oXZd= KAl 10,000,000& X 1704 = 10,000
ocLEXMIAE KA 10,000,000& X 1702 = 10,000
cEHEHIUAIE SXI22 1,000,000& X 6XI = 6,000
=CCTV, Jtoilet sXl2teldl 500,000& X 17CH = 8,500
oxZI =2IH KXl 1,000,000& X 504 = 5,000
oREH sXl2eldl 2,000,000& X 3CH = 6,000
ocHSIF+TY AFE =AAclH 1,000,000& X 10= = 10,000
odtRa HIAAUAMA(TMS) S X2l 8,000,000& X 14| = 8,000
[& A2 2]
o UX EEH =22l
800,000& X 1504 = 12,000
cPAFAUAME X2l
2,000,000& X 3CH = 6,000
o ISEEY =Xl
600,000& X 17CH = 10,200
oABTFAUAME X2l
2,000,000& X 3CH = 6,000
[EsF2tel]
SWIA EEAH KX 2l 800,000&  x 17CH = 13,600
o HAEUAL KXl 2,000,000& x  2CH = 4,000
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2. g ME. s M= Ofl &4 SEZ0 AN [ HnS2
o IS=dY =Xl 600,000&  x 1104 = 6,600
oAZFAUAME X2l 2,000,000& x  2CH = 4,000
[J1%]
CcEMIANE FANZH(EBZ BWES) 1,000,000& X 30H2 = 30,000
cYRS AL AIMAI(TMS) =X 22/ 17,000,0008 X 14 = 17,000
oXM1,2,3 EHEHUAIE |22l
1,000,000& X 17J0HA = 17,000
czYM)| BoHELEE =
9,000,000& X 3IMH=A = 27,000
[=ZZAH
oAHA Zal AlAE X 22lHI(ES) 10,0008 X 128 = 1,320
oXAEA Y|l FX22IHI(GCS 520H) 5,000,000& X 53 = 25,000
ocAMEUS AMELY SX22d]
2,000,000& X 1A = 2,000
215 S&Hl 885,420 766,590 118,830
o H4AHESE HIIMNEZ
-JlE2 1,100kwh X 9,400& X 128 = 124,080
- MNEE 340,500kwh/& X 110& X 128 = 449,460
o @SE+E TIIMNER
-JlEz 600kwh X 9,400& X 123 = 67,680
- A2 185,000kwh X 110& X 128 = 244,200
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| &

(200)RHE R X| =
o (230) RS
Hgh@34 752

m
o
]
o

2. gl Mg =2 M= Gllator | BEZOAY | HWESZ
200 A=HX= 674,660 37,230 637,430
230 =EIMHSF 674,660 37,230 637,430
234 F=E= 640,000 0| 640,000
401 AlZHIZ 208 640,000 0| 640,000
401-01 (Al&HI) 640,000 0f 640,000
O . d==FAN&E 383 24
40,000,000& X 14! = 40,000
O . E==ZANELE H.E= SA
25,000,000& X 404 =| 100,000
O dAE+=E =X 2LSAM
500,000,000& X 14! =| 500,000
235 JIAHEX 3,500 3,200 300
405 THAHFSHIS 3,500 3,200 300
405-01 (Xr&HHSHI) 3,500 3,200 300
HSH+E |
oFUE 5 2,500,000& X 1CH = 2,500
S ESE o= 1,000,000& X 1CH = 1,000
237 2I17HIS 31,160 34,030 ~2,870
405 THAHFSHIS 31,160 34,030 ~2,870
405-01 (XrabE SHI) 31,160 34,030 A2,870
oHESE AT Y
180,000& X 20K = 3,600
oHoa ooz ¢
4,000,000& X 104 = 4,000
odHla ¥ Ex)ls HED 2
700,000& X 20 = 1,400
oPXa & FUlA TV 7Y
700,000& X 30 = 2,100
ocHSEH=H AL F¥ 180,000& = 4,140
ocdsd=+& MY 7Y 140,000% = 1,680
o0ls8 M #¥ 120,000& = 1,440
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